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Abstract
The Theory of Mistake in the Syntax Class till the end of the fourth 

Hijrah Century 

Ahmed Rahman Thabit Al-Zaki 

Mu'tah University, 2013  

This study aims to explore one of phenomena of the Arabic 
syntax that have filled the very first Arabic syntax blogs till the end of 
fourth Hijrah century. 

Initial language scientists have investigated what they have 
heard from the first Arabs and other groups, and they clarified significant 
between the language of urban and rural people, they considered the 
eloquent language and distinguished it, however, they haven't stopped 
there, but the compared the language of their own with each in order to 
correct and make the language as accurate as it is nowadays. 

This research has prospected these aspects that have been 
illustrated by language scientists, utilizing what they have got from texts, 
whether poetry or prose, beside, their ultimate care with the mightiest 
text; the Holy Quran. 

An introduction and three chapter have been addressed: 
Chapter one: the mistake (it's concept, associates, synonyms and 

between it and other terms). 
Chapter two: manifestations of mistake and its originators. 
Chapter three: mistake issues in syntax class. 
Lastly, the results of this study and the references that have been 

adopted for this thesis. 
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